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Subject: Human Anatomy and Physiology Il F.Y.B.Pharm, Sem |l - B gtl
Duration: 3 Hours Total marks: 80M -~ "
N.B: 1. All questions are compulsory $ T e
2. Figures to right indicate full marks

Ql. Choose appropriate option for following multiple choice based questions. 20
1. Neurons secreting dopamine are present in Catp e
a. Substantia nigra

b. Arbor vitae -

c. Cerebellar peduncles

d. Pontine nucleus b
2. cells of stomach secrete pepsinogen and gastric lipase: - . .. a0 L
a. G Cells A R L

b. Chief cells . . SR G
¢ Parietal cells ‘ S

d. Mucous neck cells ¢ i \3‘ '

3. Each bronchopulmonary segment of the lung has maw*smai[x;'qmments calt@dsas
a. Lobules i
b. Alveoli

O

. Respiratory.bronchioles
d. Terminal bronchioles

4, is the middle and the thkkesnlayepn; twswe surgounding each kidney.
a. Renal Capsule R s R s E .

b. Renal Fascia | e
c.

d.

Adipose'Capsule
Renal Medullia

5. if you drank a litre of water, what effect wouldthis have on the osmotic pressure of'your blood?
a. Increase in.@smotic pressure

b. Decrease in ©Smotic pressure
.
d.

No change in osmiotieqresstke . == [

Slight increase in osmjotic pressure

6. is a large, fluid filled follicle that is ready to rupturerand expel its secondary cocyte.
a. Corpus luteum

b. Graafian follicle

c. Corpus atbicans ;

Ovarian follielgs .+ - ~ .ot

. . PSRN
P T

Q.

-

3 _______ ofhypothalamus serves as relay centre for reflexes related to sense of smell.

a. Supraoptic region
b. Tuberal region

c. Mammillary region

d. Preoptic region 4

8. . 05 the organ that stores, concentrates, and delivers bile into duodenum via common

bile duct.
Fage dy s
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a. Liver

b. Gall bladder

c¢. Pancreas

d. Large intestine

9. functions in warming, moistening, and filtering air; receives olfacgbgy lwtpnbls
resonating chamber for sound. LT -;"x"?\‘ ’.4 Ao
a. Nose "_'-.:?a: "““,-"": .

b. Pharynx

c. Larynx

d. Epiglottis

10. Which of the following is the correct sequence in which urine ﬂows‘thmugki‘the kidnevwwa?dthe
urinary bladder? Rl S T

a. Renal pelvis, major calyx, minogcalyx, papillary duct, ureter R " g '.;-‘-' v»,'
b. Papillary duct, minor calyx, major calyx, renal pelvis, ureter , :

c. Minor calyx, major calyx, papiliary duct, renal pelvis, ureter:

d. Papillary duct, major calyx, minor calyx, ureter, renal pelvis. - -

11. are involved in formation of bloqd‘besﬂs bﬁme:

a. Spermatogenic cells Tece gl o B
b. Sertoli cells y\a o R

c. Primordialcells | '

d. Germinal epithelial cells

12. Whichycellsproduce parathyroid hormana @TH) e 1LE
a. Chief cells i - Pl R LA
b. Oxyphil-ells : o, SR
c. Follicularcells

d. Parafollicular cells

13. During the phase, the negatwe rﬁm potential becames less: negatlve, reaches
zero, and then’becomes positive! .

a. Repolarizing

b. Depolarizing _

¢. Threshold _ T O by

d. Hyperpolanzmg T o

» %

14, ; sontnbute 0 Sperm motmty and viahility 'and may stimulate smooth muscle

contractlons inthe fema!e reproductwe Tract.
a. Fructose

b. Prostaglandins
c. Clotting proteins
d. Prostate-specific antigen

15. How much is Inspiratory reserve volume in an average adult male?
a. 3100 mL

b. 2100 mL Y

c. 1100 mL

d. 1500 mL

()og( 7_0’\@
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16. are the largest and most numerous neuroglia in the CNS.
a. Oligodendrocytes

b. Astrocytes

c. Ependymal cells

d. Microglia

17. The anterior pituitary (anterior lobe), is also called as
a. Adenohypophysis

b. Neurohypophysis

c. Pars nervosa

d. Pars intermedia

18. Secretion of Human growth hormone is inhibited by
a. FSH

b. TRH

¢. GHRH

d. Somatostatin

19. is the'small molecule inhibitory neurotransritter
a. Glutamate ]
b. Aspartate

c. GABA

d. Substance P*

20. A portal triadkis composed of : | ¥ ‘ ' A
a. bile canatieuli,.branch of the hepatic artery and branch of the. hepatrc vein
b. bile duct/'branich of the hepatic artery: -andbranch of! the*ﬁgpaﬁc veln Y
c. bile du¢tphepatic sinusoid and branch of: ﬂ-'lé hepatlc vein. .

d. central vein, Branch-of the hepatrc art;ery and branch ofthe hepauc vein

12

Q2 A. Answer any ONE questmn SR
srebrospinal fluid, adda note on spinal

a. Explaimthe formation, cempositlen, angm i
meninges. - :
b. Define’Pulmanary ventllatlon, expvhiﬂ n mttﬁt ;
pulmonary ventilation Il

alation and exhalation and factors affecting

Q2 B. Answer any FOUR questions. . 438
a. Explaingeneration. o{*«aetlon potential, ahd describe circulation.of Cerebrospinal fluid.

b. With the help of neat labellgd thagram explainithe ahatomy and histology of small intestine.
c. i. Write a note on regulation of respiratory centres.
ii. Explain in detail the blood supply to the kidney and write a short note on ureters.
d. Draw a neat labelled diagram of pituitary gland. Write a note on anterior pituitary cells and
their hormenes
e’ 'Braw 2 neat Iabelled d:ragram of histology of ovary Explain the process of oogenesis.

Pa%oﬂ; d\)OL
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SETII

Subject: Pharmaceutical Organic Chemistry I
Duration: 3 Hours
Syllabus: CBCS R-2019

N.B. : 1. All questions are compulsory
2. Figures to right indicate full marks

Q.1

CH3 CH2CHCH2CH2C1

CH3CHCH3CH2CH2C] &

CH2ZCI C(CH3)3CE . &

aljocie | —

CH(CH3)2CH§1§5B

Choose the incorrect opﬂa&:cgar&l,%

They @er m?b()th phylsm nd. c s o
They have different moleculat formula

There ‘are.two typeS‘Qf lscme&m stri
GeGmctﬁc and 0, ) cal

alQjcis it

| Low concentration of nucleophile favours

SN2 reaction oy i

SN1 reaction

Both SN1 and SN2 reaction

SNE reactions
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SN2 mechanism proceeds through the intervention of

Free radicals

Carbonium ion

Transition state

o Qo is |

Carbanion

The most reactive alkyl halide is

C2H5F

C2H5Br

C2HSI

o Qo e |

C2H5CI

An ideal solvent for SN1 reactloﬁ -

Polar protic solvent

Polar aprotic solvent .y B r

i

o Qo |oo

Non polar solveqt-.f:-;_‘z"'rw
Levelling sol,y . |

Chlon —xf Qfﬁiethane to gi
electr 1iﬁd1txm O
caksubstitution

o|Qlo s [0

nu lic addition et WA
electro ic substltugcn , f ’

Paraffgwaxes are graded by 1ts

oint

%ﬁf@avity

S
i

detlity

Vnﬁjlty

In dition of

Hund’s ru ‘ ’! v r » ‘:"*
Markgvnikeff’s e |

Saytzeffs rule

ﬁ'tiivr-

Anti Markovmkng!!ﬁf ile -~

Which of the followmgMB prés%nce of a peroxide to give anti
Markovnikoff’s product

1-butene

aad dimathy! 2 bubene

2- butene

3 hexene -

Why tcmary carbomum ion is more stable than pn{nary and secondary carbonium
ion -

due tfo presence of +I effect

6630C376E46354AD716BDDD8614B13ED
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due to presence of-I effect

due to steric hindrance

a.l0lo

Both a) and ¢)

fam—
4

ozonolysis?

1 butene

2 methyl 2 butene
2 butene '

alOo|e

2 methyl propene

e
(%

1,3 butadiene

1,4 pentadiene

1,5 hexadiene

alOlo|e

1,2 propadiene _ W &1

[

3,4 dibromo 1 batene .

4 bro@ 1 btitfe‘ne

14d!bi‘omo2b

alOlole | o

o

alioce |

P

3
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1) 2,3-Dichloro-1,5-dipentanamide
2) 3-Bromo-1-propene

3) 1-Butene

4) 3-Butenoic acid

a | Hemiacetal )
b | Acetal , ‘ e .
C | Hemiketals : ,
d | Ketals
Q.2 | Answer any one question. 12
A -
a|I) Explain in details Electrophilic addition of HBr to 1-propene. Write completc 6
reaction, Give the detailed mechanism for addition as per Markovnikoff’s rule
and the addition in presence of peroxide. Comment on the stabilities of
intermediates and products. :

1) Give the products obtained on reaction of 2-chlorobutane and alcoholic KOH. 6
Describe the mechanism for formation of both the products. Comment on
major and minor produet formation. Justify your answer. :

b[D) Give Reasoisii.. " ’ L.
1) Why ‘hyérolysis of ethyl chloride is SNZ v@}f& hydrolysis of tert-butyl | 6
chioride. i is SN 1 reaction?
2) “Why-alky chlorides react eastly with -OH ions whﬂe vmyl halide does with
- dlffitulty? 6
H) ~Arfange the following in the order of their increasing tﬁptmty towards
= nucleophilic substitution reaction. CH3F, CH3Cl, CH3I, CH‘}BE Justify your
~. afiswer. Give detailed mcbamsm for SNl Reactlon
Q.2 | Answer any four questwns 11 — - — | 48
B %A : : .
t 1) -Write the IUPAC names for the following =l =X 6
4 - 6
1) Give structures for the following [UPAC names 4

6630C376E46354AD716BDDD8614B13ED
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i) Draw the tautomeric forms of acetone and ldcntlfy the tautomeric system o

~ b | 1) Compound (A) having molecular formula C3H7NO, on acid hydrqusxs,gmq s16 .
an acid(B) and ammonia. When (A) treated with bromine and:alk ;Sﬂd
compound (C) is obtained which on treatment with nitrous acid ggﬂ@a@ ai(:gixﬂ ]
(D) and nitrogen. Compound (C) on reaction with chloroform an ' 3
evil smell due to formation of compound (E). Write sﬁ’uﬁhﬁ’@ @t%t@&f h
N

cornpounds mentioned by giving appropriate reactlons

IT) Depict the detailed mechanism for any two:

1) Benzoin condensation v
2)  Formation of acetal from acetaldehyde
3) Perkin condensatlon

¢ | I) Arrange the fcﬂl‘owing bases in increas otg
phase and gaseous phase. Justify tﬁeorﬁ W
N- Meth)@e&anami'ne Ethanamine and Tnmtﬁyhﬂmea '::

) With-the 1h,e1p of reactions Give Q jali

din Hb‘W will you dlstmgmshpmmy seco:idali,s" émd temgry aicohgls‘by Lucas test? | 6
v Statechemxcal reactions. Wﬂie'the mcchamsm of cldlc dehydra@wn of alcohols.

IT) Discuss in detail halogenatmn of’ atkgms thh éxaqﬁle Give useaf paraﬁin

e | "= Discuss in detail the general reaction. mechamsm of nucleopbﬁg addition | 6
- réaction for acetal formation. || .
“~Give the products.for the ﬁ)ﬁn"
I) Acetone +Pheny|hycjm_g.’-

2) Aceialdehyde + semicarb;
Me@ldehﬁde W initro :

IT) Elaborate on swtutﬁ Tmsm in mamc compmds w1th examples each |3

e to 2,2-&1methy1propanam1de
tﬁyl propionate
3) Ac_etone to Isopropylmethylamine

6630C376E46354AD716BDDD8614B13ED
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=

Subject:  Biochemistry

Duration: 3 Hrs

N.B.: 1. All questions are compulsory
2. Figures to right indicate full marks

23.03.2029

Total marks: 80 M

.
Py
R

Q. 1 | Choose appropriate option for following muitiple cholce-basedg’i@ggﬁé A

§.~’<‘ SN

1 | Which of the following is an aliphatic amino acid with R group contz
sulfhydryl group?

Pheny! alanine

lysine

Threonine

e [T W

cysteine

~N

as

Mutamtatwn

Eplmnm

Racemization

Sie |Tie

InVersion

C% epimers

C2 epimers

C6 epimers

i |Tie W

Ee

Sl [T e

Photophosphorylaf“ fon .

is useful in genexa.tmg pcntoscs and NADPH required for the

biosynthetic reactlons :

T

ir.aikticlibi’aﬁforg

?éjaj,dboq

6630C376E46354AD716BDDD8617738D0



IR@AIKTC-KRRC

~3

Glyceraldehyde-3 -phosphéte dehydrogenase

Hexokinase

Pyruvate kinase

ale|o|s

Pyruvate carboxylase

a

The reducing equivalents are sﬁppliad by

NADPH

NADH

e |T|@

Adenylosucm%lg?yi&hetase
Adenylosuc'&s

sl [Tiw |\O

IMP dehj‘diogﬁ'ﬂh%e

-—:ri._ 5

N

1

==

=N sgaarates theztwestmtis ofDNA ;

- i PR o E S

Gyrese '

Topmsﬁlcrase

Ijghcase

e T

DNA golymerase

11

L2

Mof the followmg work is done by thﬁ s@ factor in transcnph%

@cage action i |
_ycnptlon initiation 5

T rlptlon elongatlon

e T2

12

Thymidylate syn%as :
CTP synthase o

/e |Tie

1

w

| is involved in salvage pathway of purines.

| Adenine phosphoribosyl transferase

~Glutamine- PRPP am1dotransferase

| IMP dehydrogenase

'G-"ﬂ =k

ir.aikt'cli'brary.org
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14 | The number of ATP molecules formed by B-oxidation of one mole of palmitic:
acid are ;

126
106
135
108

Bl T

1

(]

Formation 3-hydroxy-3-methylglutaryl CoA
Formation of Mevalonate
Formation of Isoprenoid Unit
Formation of acetoacetyl CoA ;

Qe T

1

=3

The accumulation of ace
generation of :
ATP g et
Ketone bo Y =l

. .-h‘-:T

Free fa ids. ) . . i
Oxaloq&gtatc‘-.‘*-" L T

CoA in the mitoch, ndna }of the l‘itye‘; results in

AN
i T

1

~3

;H...- i§ involved in blosynthesm of doparmne
Tﬁs@‘hydroxylase e, T
Tyrosinase ] ol
Phcn@thanolamlm N-methylt;ansferase

fle T

1

[~

L & isthe lmk betweenurea cycle and TCA cycie 3
arate

Qi T

Wering molecul
Ligase . - - o
Isomerase J%‘.:g
Oxndoreductase :
Hydrolase

Qle T

12‘?0\ The functxonal umt of the enzyme is known as
Chxroenzyme \f‘, 3

-{ Holoenzyme .. .. -

| Prosthetic group,-;

Monomeric enzyme

u,

boged 9}, 04

6630C376E46354AD716BDDD8617738D0
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Q.2 A | Answer any one question.

a| i) Write a note on Carnitine shuttle.
ii) Explain the biosynthesis of noradrenaline with its significance. = .
iii) Give the reactions catalysed by FAS complex in the b10synthes1s of fatt

acid.

b | i) Outline TCA cycle with its significance. ¢
ii) Give the names and structures of substrate and product for the
enzymes:
a) Pyruvate dehydrogenase
b) Phosphoglycerate kinase
c) Lactate dehydrogenasg.—=| -
d) Enolase 'k
) —L.!i-. T—ll?' i - 8 1 rfl.::' :
ﬁW@?“ﬂﬂs f _.’*' & !
a| i) Exﬂi‘ﬁn g_{ixé‘rl)rlleogeﬂesw with respect to the name
the*enzymes involved i reversat of glycoly51s
i') sCr"be the various complexes involved in E’IZC

xs'buss deamination. and decarboxylatxon reactlons m‘yolwﬂ- in amino

Q.2 B | Answer any

I-"l- e - g 'l" & qHLl -1 T
; amd metabolism, ‘ »_ LT Bt T - - 'I'.E;
b |9 .','lee the four steps qulved in the B-ox;datloh of saturated ﬁt)ﬁld
i) 'Explam the formatldn of ketone bOdltlSi ] ‘"“ >
ﬁ) “Outline the oxrdatlve phme of HMP sHu.nt and nge its mgmﬁca@
{\I R s,‘xs,;\:,;- &’{m o
c €lassify carbohydrates and give vamples of dlsaccharrdgsg
&- Draw the structures of any two acidic amino acids, and exp@n a-helix
~
d =
a) Synthesm of AM ]
b) Salvag way for purmes }
ii) Explain in }‘amthltlatlon and\qllggiht n steps in prokaryotic
replication.

iii) Define enthalpy and entropy. Discuss the biological role of phospholipids.

“e| 1) Draw the structure of ATP and explain enzyme induction and repression.
iy Classify enzymes as per [UB system with suitable examples.

‘Discuss Michaelis Menten plot with respect to reversible enzyme
‘.inhibitors. ‘

Prgge 41 I o
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| 29.03. 1.
Subject: Pathophysiology ~ First Year B. Pharmacy ( SEM-II)(Choice Based) (R-2019)

Duration 3 hours - Total Marks: 80

N.B. 1. All questions are compulsory

2.Figures to the right indicate full marks

Q.1. | Choose appropriate option for following multiple choice based questions | 20
1 | Clearance of injurious stimuli with re‘pia(:ement of injured cells by normal
cells and resuming of normal fumtm is called as
a | Resolution of Injury i e . pre=t
b | Fibrosis « 4 B 4 i f";l:"j; .
c | Necrosis g g% = L T
d | Apoptosish, il e : T T4 r'i-r,,-f.-"
!.
21A pu,@en;:'a&udate is an tﬁﬂammawry exudate rich in !éuge&xis cell
debris an& in manycases, microbes is caHed s o s_~_..1'
a@ph . j,ﬁ.’
b | Transudate et Pl o £ U] o
c | Plurd¥Fluid Y et || T T =
‘,',l i i —
3T if not scavenged bv antxoxndam sygtem are ‘harmful toﬁ;é%ll

‘ Jcan lead to cell death. | '

“Adenosine Tri Phosphate

fe-ggtlve Oxxgen Species

oin |jole

¥

Necros;s *f fMimpac &\
Ll = LF L]

Apoptosis

Qin ||

Resolution of fhe lnjury

is wreverssble necrosis of heart muscle seconda ry to
prolonged ischemia.

Acute Myocardial Infarction

Hypertension

Hypotension i

9%21%09

6630C3 761:4635 4AD716BDDDE6186BA0Y
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d | Atherosclerosis

6 | According to the degree of thickness of ventricular wall involved in
myocardial infarction, the infarcts are classified as: =

Septal and Lateral :

Transmural and Laminar _

Anteroseptal and anterolateral

Anterior and Posterior

Qin |T|®

~N

Which of the following does noticsqse airway narrowing in an asthma
attack i
Destruction of airways 5 T

Mucus hypersecreti % {:% [
Airway edema £ I8

BronchosQE_*,T"-_"l_ﬂ_"i. : ! ""i i Ig :E'J- ff%i

Qln |T|®

P

- o0

enal Failure |
Transient Renal Fqﬂ'urre |
'ﬁeut‘_E;.‘Renal Fallum )

Qo |T|w

Iﬂpsna polyunahglpcpsqw polyg
ms of

thma

ina pectoris

| Urifiary tract j
Diabetes

10| n ~the
Parkinson's disease ‘ :
Epilepsy j‘é‘itrf : oM
GOUt : E : " |
; i ﬁﬁj nq E L B

Peptic Ulcer

¥e)

Qin T |®

Qo Tl

1

=

Select the appropriate cause of peptic ulcer from the following
Helicobacter pylori

Bicarbonate

Prostaglandin

Mucosal blood flow

Qln |T |

i
12 | Acute cerebral ischemic stroke is characterized by the

6630C376E46354AD716BDDDE6 I R6BA09
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d | Atherosclerosis .
6 | According to the degree of thickness of ventricular wall involved in
myocardial infarction, the infarcts are classified as: oy
a | Septal and Lateral "
b | Transmural and Laminar i
¢ | Anteroseptal and anterolateral
d | Anterior and Posterior
7 | Which of the following does not-cause airway narrowing in an asthma
attack o
a | Destruction of airways gl =,
b | Mucus hypersecretion, 3 |
c | Airway edema %" L= ] Fr
~ d | Bronchospaggh e, * ST LN T4 :-;#ff-
‘ e ! -E‘-."-fﬁ rx kH:: g I-J_":I.-&_%g
8| Asy ‘ﬂ%e,ﬁich glome Mﬁ’?}ﬁ%ﬁminess J@ﬂis usually
g iy
a| RepWCalgull = riorcmytony || ey N e
b ic’Renal Failure” Il | IN i
c t Renal Faifure. iR U e o Y
d |AcuteRenal Failure ™1/ 2| - I bRk f_';z
. Tee Lhet e B I — - -
9 [Pelydipsia, polyua’li.;_;gl_ii‘(’:iiﬁ:t%i%% mly@ﬂqgﬁéﬁ‘\ical signs E
loms of 11151 1A o W B L 8o
- ""hma B R d | S| :-v ,Q :‘g
b | ARgina pectoris [TEIRT=T]
c ry tract infection S | | | :’E
d | Disbétes Mellitus, o Feg)
~ ' 10| In = there age to substantia nigr ‘ 5 pallidus.
a | Parkinson's disease” | - :
b | Epilepsy :
AT | TP e
d | Peptic Ulcer MEAL = Y
11 | Select the appropriate cause of peptic ulcer from the following
a | Helicobacter pylori :
b | Bicarbonate
c | Prostaglandin
d | Mucosal blood flow
4
12 | Acute cerebral ischemic stroke is characterized b‘y the

6630C376E46354AD716BDDDE6136BA0Y
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| 129.03.19
Subject: Pathophysiology _ First Year B. Pharmacy ( SEM-11)(Choice Based) (R-2019)

Duration 3 hours - Total Marks:'so 4

N.B. 1. Ali questions are compulsory :
2.Figures to the right indicate full marks

Q.1. | Choose appropriate option for fotiowing multiple choice based questions | 20
1 | Clearance of injurious stimuli with feplacement of rmured cells by normal
cells and resuming of normal funtﬁon is called as'
a | Resolution of Injury .. 1. 1 0 -
b | Fibrosis » :'E-L?'-F B I ,.-L"f
c | Necrosis % 3% g # | e R TR
d Apoptosm.l:'i‘i" L i G LT _T-;’if_,.-
| | |
2| A p&er@exudate is aff iﬁfhmrﬁat@ry exudate nch in !eakgcﬁ'eiﬁ, cell
debis an an& in many gases&m'obes iscalledas T
, -%—
aill hﬁ- 7 Nyl : 114} Ll
b ‘ﬁ'answate Ll i)
¢ | PlurafFluid N W= [
d lE’us.T ‘ =l L S, __;._:
3 g- if not scavengeé bry anfthwlaﬁ‘tsyféfm are harmful to fh
nd 2n lead to cell death. a _:E:'
a | Adenosine Tri Phosphate ;
b Rg'tlve Oxygen SpeCIes ; ——
d : i
2 | ves: :
s : L s
a | Neovascularization] [ ., %ﬁﬂi’a?
b | Necrosis MLl TTTTT-T VR L
¢ | Apoptosis g g
d | Resolution of the iinj;ury
5 ___isirreversible necrosis of heart muscle secondary to
prolonged ischemia.
a | Acute Myocardial Infarction
b | Hypertension
¢ | Hypotension : i

Pﬂgzl%oe

6630C3 76]:.46354AD716BDDD86186 BAQO9
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[ QUESTION PAPER SEMSETER 11

|

CLASS:- First Year B. Pharmacy

SEM:- 1l

SCHEME:- R-CBCS

SUBJECT:- Computer Application (Theory)

DATE:- 02/08/2022

DURATION:- 120mins (Time: 10.00 AM - 12.00 PM)

MARKS:- 50 Marks

Q.01 Long answer (2 out of 3) Marks | CO
A) | Write a short note on binary number system, 10
Show conversion steps for converting 1001 from binary to decimal
B) | Explain any one Computer.application in pharmacy in detail. /| 10
| €) | Write a short note on decimal number system 10
i Show conversion steps, for.converting, 26 from decimal to binary
Q.02 Short answer (6 out of 8) . Marks CcO
A) | Write a short note. on sdic along with one sdic model 5
B) | Write a short nete'of.database with small example 5
C) Describe : 5
1 - Information
2 - Data
3 - Database
4 - Software
5 - Website= ,
D) List 3 Operating system 1 5
List 3 Software
List the 3 building bmaks sf a website
List types of number's (
-~ E) Write abbreviation of : 5
Html, css, js, sdlc,
Write a short descriptionQn.website.
F) What is the starting tag of an HI Ml deeument? 5
SDLC -Software Development Life Cycle'is followed to develop?
Which number system has base of 8?
How many numbers does the Decimal number system have?
- Name 4 types of number system.
G) Explain Bioinformatics in pharmacy 5
F) Explain Information system in pharmacy 5
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- Semester Theory Examination (NUES), SEM Il CBCS R-2019

SUBJECT: EVS
DATE: 01.08.2022 Maximum Marks- 50 TIME: 10am to 12pm

1. MCQ is Compulsory.
2. Long Answers (Answer 02 obut of 3).
[ 3. Short Answers (Answer 04 out of 05)

Q.1 MCQ 10 Marks

1.Which of thes® layers of the atmosphere consists of the ozone layer that is
responsible for absorbing the Ultra-Violet (UV) light?

A. Troposphere
B. Mesosphese
C. Stratosphere

D. None of thesé

&=

2. What is thelestimatedspercentage of forest M that India_should ideally have?
= A 15% '

B. 50%

C. 44%

D. 33%

3. An extensive number of chains interlinked in an ecosystem forms a
together.

A. Food chain
B. Food web
C. Carbon cycle

D. Nitrogen cycle
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4. Which of these elements is considered to be the largest source of commercial
energy consumption in the world?

A. Nuclear
B. Natural gas
C. Qil
D. Coal B
F =
5. Deforestation may reduce the chﬂﬁég,pf‘ 3
A. frequent landslides .,-Jihﬂ- ’i--h_'j"__l’. I.Fr 7
B. erosion of surfa |_'_',r-11' e T"v '-'1_{-{&4':-"{-
he i.-"=1 Tl
C.rainfall - 4%y  FmlllGULCTEN o e ~
F L P YO T ¥ <
D. frequent ones o e 1 | R j!‘: 'FE;,'.,
:'_T {;H ri ;“'If' oy .'-'-- [T | _ 3 .i"." 0
6. Soil contegﬂ_atlon is themrpqeﬁgs vyﬁifé s | okt == :
A. soil is aer@d H i F"' Ill;rTIl 1_.‘“—'1';.!-. ;E
B. soil ls,&og:ted agalnsti@ss :I I !'~f.:';t'5-',,fg ! E.E
e ; = — ‘
C. stenl%l?sconverted to fertile soﬂ j i E
|
o .

_soil erd;'ﬁ\ is allowed

S

7.In an ecosystem,
A. Always unidirectiona
B. Always bidirectional
C. In any direction

D. Always down directional

8. The upper part of an aquatic ecosystem contains
A. Nekton i
B. Plankton

C. Benthos

D. both (1) and (2)
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9. The over nourished lake swith "algal blooms" are called

A. Eutrophic

B. Oligotrophic
C. Dystrophic

D. Meromictic

10. Which of the following gas is producé& from landfill wastes?

(a) Biogas
(b) Natural gas "q:'tﬂt"?' - rf{‘&.
h (c) Liquified petroleu gﬁ;‘}l‘n | ¥ “*'E'._ ﬁ?f:;'
o [ g = i

(d) All of the above™ ﬁ-' S g e ‘f-"l_- fll-l.-a

3 .:‘." o A

N e A 2%
Long Answ@(MY TWO) N ;- 1T ] ’ c—_::
Q.2 Define Ait P&‘utlon glver its types sotmces of éiz pol!utidn and exa'jam concept of
pollutants m?etgé _ f - __'_'i f—ﬁmks
Q.3 Explamﬁorﬁewanon of natural resources mﬁeﬁéﬁ f 19 l@ks
Q.4 Explainsiftbrief about structure and function of ap e@asystem. 10 Erks

Z =
@ o
~ Short Answers (

Q.5 Explain Photochemical 05 Marks

Q.6 What is Soll Pollutionéfq sources of Soil Poq;iﬁh?* 05 Marks

Q.7 Write a short note on Desert Ew &1 05 Marks

Q.8 Write a short note on Producers, Consumers and Decomposers. 05 Marks

Q.9 Write a short note on Mineral Resources. : 05 Marks
4
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